DIN #rAERESL

ET-M-ED =i@HE#:L — ABNRIUEDR F i

a L5 L5 0O
QI TR
s2
[}
-
X1) OZL[E
X2) EDFE
D1 TAEE 7 (bar)
=
#5 | | T D3 | D4 | D5 | L1 [ L2 | L3 | L4 | L5 | S1 | S2 | S3 | =/#% iTHRS* CF 71
L | 06 |M10x1 4 4|14 | 19 [120(345| 8 |27 [ 12 | 14 | 14 55 | ETO6LMEDOMD | 500 | 315
08 [M12x15| 6 6 | 17 | 21 |14.0(375| 12 | 29 | 12 | 17 | 17 75 | ETOSLMEDOMD | 500 | 315
10 |[M14x1.5| 8 7119 | 22 |15.0(400| 12 | 30 | 14 | 19 | 19 98 | ET10LMEDOMD | 500 | 315

12 |[M16x1.5| 10 9 | 22 | 24 |[17.0(420| 12 | 32 | 17 | 22 | 22 135 ET12LMEDOMD | 400 | 315
15 |[M18x1.5| 12 | 11 | 24 | 28 |21.0|/46.0| 12 | 36 | 19 | 27 | 24 203 ET15LMEDOMD | 400 | 315
18 |[M22x1.5| 15 | 14 | 27 | 31 |23.5|50.0| 14 | 40 | 24 | 32 | 27 310 ET18LMEDOMD | 400 | 315
22 |M26x15| 19 | 18 | 32 | 35 |27.5|55.0| 16 | 44 | 27 | 36 | 32 377 ET22LMEDOMD | 250 160
28 | M 33x2 24 | 23 | 40 | 38 | 30.5(59.0| 18 | 47 | 36 | 41 | 41 607 ET28LMEDOMD | 250 160
35 | M42x2 30 | 30 | 50 | 45 [345|685| 20 | 56 | 41 | 50 | 50 929 ET35LMEDOMD | 250 160
42 | M48x2 36 | 36 | 55 | 51 |40.0|75.0]| 22 | 63 | 50 | 60 | 55 1478 ET42LMEDOMD | 250 160
S 06 |M12x1.5| 4 4 (17 | 23 |16.0{40.0( 12 | 31 12 | 17 | 17 92 ET0O6SMEDOMD | 800 | 630
08 |M14x15| 5 5|19 | 24 [ 17.0(425| 12 | 32 | 14 | 19 | 19 126 ET08SMEDOMD | 800 | 630
10 |[M16x1.5| 6 7 |22 | 25 |17.5(450| 12 | 34 | 17 | 22 | 22 167 ET10SMEDOMD | 800 | 630
12 |[M18x1.5| 8 8 | 24 | 29 [215(480| 12 | 38 | 17 | 24 | 24 207 ET12SMEDOMD | 630 | 630
14 |[M20x1.5| 9 | 10 | 26 | 30 |22.0|/54.0| 14 | 40 | 19 | 27 | 27 287 ET14SMEDOMD | 630 | 630
16 |[M22x1.5| 12 | 12 | 27 | 33 |245|55.0| 14 | 43 | 24 | 30 | 27 352 ET16SMEDOMD | 630 | 400
20 |M27x2 16 | 16 | 32 | 37 | 265|65.0| 16 | 48 | 27 | 36 | 32 498 ET20SMEDOMD | 420 | 400
25 | M 33x2 20 | 20 | 40 | 42 | 30.0(730| 18 | 54 | 36 | 46 | 41 916 ET25SMEDOMD | 420 | 400
30 | M42x2 25 | 256 | 50 | 49 [ 355|785 20 | 62 | 41 | 50 | 50 1328 ET30SMEDOMD | 420 | 400
38 | M 48x2 32 | 32 | 55 | 57 [41.0|89.0| 22 | 72 | 50 | 60 | 55 2031 ET38SMEDOMD | 420 | 315

*TEEBRFE, BRESERTAREHHHNESSED6R.

ITHRSEER
e FEAbIE w51 tREEE MR
Rt .
. BREN,
%ﬁﬁg’g FA s CF ET16SMEDOMDCF  |NBR
rEmes | BW 71 ET16SMEDOMD71 VIT

m D67 et 4100/CH



